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What approximate value should come in the place of question mark(?)in the following 
questions?

1. √2300 +(8.015 )² = ? ÷ 0.0625

(A)10 (B)9 (C)8 (D)6 (E)7

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 500 (B)600 (C)700 (D)550 (E)650

What approximate value should come in the place of question mark(?)in the following 
questions?

2.      (1560.4 ÷ √ 1520 ) × 12.497 + 99.85 = ?

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 60 (B)70 (C) 50 (D)64 (E)72

What approximate value should come in the place of question mark(?)in the following 
questions?

3.        74.7% of √ 9215 ÷0.019 = (?)²

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1515 (B)1677 (C)1687 (D)1730 (E)1667

What approximate value should come in the place of question mark(?)in the following 
questions?

4.        3705.08 ÷ 95.06 × 43.07 = ?

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)12 (B)14 (C)30 (D)42 (E)17

What approximate value should come in the place of question mark(?)in the following 
questions?

5.     91.01 − 8.98 + 1.74 = ? + 70.20

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)10 (B)8 (C)9 (D)7 (E)6

What approximate value should come in the place of question mark(?)in the following 
questions?

6.  ?² + 19.09  =  99.96   

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)162 (B) 192 (C)186 (D)157 (E)178

What approximate value should come in the place of question mark(?)in the following 
questions?

7.   507.93 − ? − 287.98 = 28.02    

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)244 (B)220 (C)249 (D)232 (E)234

What approximate value should come in the place of question mark(?)in the following 
questions?

8.    √ ( 500 − ? ) + 3.94 = 20.05

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)85 (B)95 (C)78 (D)99 (E)80

What approximate value should come in the place of question mark(?)in the following 
questions?

9.    24.95% of  801  − ? = 104.92  

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 32 (B)42 (C)49 (D)29 (E)38

What approximate value should come in the place of question mark(?)in the following 
questions?

10 .  √ 257 + 74.02 − 512.95 = ?   

E04613
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(A)92 (B)563 (C)2 (D)5 (E)19

E04613

Find the wrong term in the given series  

11.     2.5,  1.5,  2,  5,  19,  92,   563
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(A)3 (B)72 (C)18 (D)9 (E)2160

E04613

Find the wrong term in the given series  

12.  3,  9,  18,  72,  360,  2160,  15120 
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(A)645 (B)978 (C)429 (D)304 (E)240

E04613

Find the wrong term in the given series  

13.     1500,  978,  645,  429,  304,  240,   213
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(A)399 (B)387 (C)278 (D)36 (E)360

E04613

Find the wrong term in the given series  

14. 400,  399,  396,  387,  360,  278,  36 
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(A)80 (B)95 (C)59 (D)66 (E)73

E04613

Find the wrong term in the given series  

15.   80,  73,  87,  66,  95,  59,  101
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(A)117 (B)348 (C)1041 (D) 3119 (E)9357

E04613

Find the wrong term in the given series  

16.  40 , 117 , 348 , 1041 , 3119 , 9357 
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(A)1157 (B)941 (C)816 (D)752 (E)726

E04613

Find the wrong term in the given series  

17.   1500  , 1157  , 941 , 816 , 752 , 726 , 717 
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(A)63 (B)77 (C)55 (D)84 (E)91

E04613

Find the wrong term in the given series  

18.   70 , 63 , 77 , 55 , 84  , 49 , 91
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(A)5 (B)14 (C)54 (D) 274 (E)1643

E04613

Find the wrong term in the given series  

19.  3 , 5 , 14 , 54 , 274 , 1643 
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Directions (Q. 21 -25):Direction: Given below is the data on students and teachers of a 

coaching centre of different batches running in the coaching

निरे्दश: कोन िंग में  ल रहे निनिन्न बै ो िं के एक कोन िंग सेंटर के छात्ो िंऔर नशक्षकोिं का डेटा

िी े नर्दया गया है

Batch Different between no. of 
students & teachers

Ratio of teacher & 
students 

Engineering 184 2 : 25

Medical 275 1 : 12

Civil Service 228 1 : 20
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Q.21 :-By what percent the number of teachers in Engineering is less than the number of 
teachers in the Medical?
इिंजीनियररिंग में नशक्षकोिंकी सिंख्या मेनडकल में नशक्षकोिंकी सिंख्या से नकतिे प्रनतशतकम है?

(A)16% (B)33% (C)36% (D)25% (E)30%

Batch Different between no. of 
students & teachers

Ratio of teacher & 
students 

Engineering 184 2 : 25

Medical 275 1 : 12

Civil Service 228 1 : 20
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Q.22 :-What is the total number of students in Medical and Engineering batches together?

मेनडकलऔर इिंजीनियररिंग बै में नमलाकर निद्यानथियो िंकी कुल सिंख्या नकतिी है?

(A)400 (B)450 (C)500 (D)525 (E)425

Batch Different between no. of 
students & teachers

Ratio of teacher & 
students 

Engineering 184 2 : 25

Medical 275 1 : 12

Civil Service 228 1 : 20
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Q.23 :- In Civil Services batch if number of male students is 160 then what is the number of 
female students in the same?
नसनिल सेिा बै में यनर्द पुरुष छात्ो िं की सिंख्या 160 है तो उसी में मनहला छात्ो िं की सिंख्याक्या है?

(A)60 (B)65 (C)80 (D)70 (E)75

Batch Different between no. of 
students & teachers

Ratio of teacher & 
students 

Engineering 184 2 : 25

Medical 275 1 : 12

Civil Service 228 1 : 20
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Q.24 :- What is the ratio of teachers in Engineering batch to Civil Services batch?

इिंजीनियररिंग बै के नशक्षकोिंका नसनिल सेिा बै से अिुपात नकतिा है?

(A)25: 12 (B)5:3 (C)22:12 (D)25:16 (E)None of these

Batch Different between no. of 
students & teachers

Ratio of teacher & 
students 

Engineering 184 2 : 25

Medical 275 1 : 12

Civil Service 228 1 : 20
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Q.25 :-If there is a Banking batch with 150 more students than Medical batch and teacher to 
student ratio is 3:50 then total number of teachers in Banking batch is?
यनर्द एक बैंनकिं ग बै में मेनडकल बै से 150 अनिकछात् हैं और नशक्षक से छात् अिुपात 3:50 है, 
तो बैंनकिं ग बै में नशक्षकोिंकी कुल सिंख्या नकतिी है?

(A)24 (B)27 (C)30 (D)21 (E)None of these

Batch Different between no. of 
students & teachers

Ratio of teacher & 
students 

Engineering 184 2 : 25

Medical 275 1 : 12

Civil Service 228 1 : 20
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Directions (Q. 26-30):Direction: Data of electricity consumption of two Companies A & 

B for 3 months (June, July, August) is given below.

Company A: Consumption for month in June is 840 units which is 5% more than the 

consumption of the month of July. Total consumption in June July & august was 2360 

units.

Company B Consumption in month of July was same as the consumption of company A 

& consumption in June was 100 units more than that was in July Total consumption for 

august for A & B together was 1560 units.

तीि महीिे (जूि, जुलाई, अगस्त) के नलए र्दो किं पनियो िं ए और बी की नबजली खपत का डेटा
िी े नर्दया गया है। किं पिी A: जूि में महीिे के नलए खपत 840 यूनिट है जो जुलाई के महीिे की

खपत से 5% अनिक है। जूि जुलाई और अगस्त में कुल खपत 2360 यूनिट थी।

जुलाई के महीिे में किं पिी B की खपत किं पिी ए की खपत के समाि थी और जूि में खपत

जुलाई की तुलिा में 100 यूनिट अनिक थी ए और बी के नलए अगस्त के नलए कुल खपत 1560 

यूनिट थी।
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Directions (Q. 26-30):Direction: Data of electricity consumption of two Companies A & B for 3 

months (June, July, August) is given below.

Company A: Consumption for month in June is 840 units which is 5% more than the consumption of the 

month of July. Total consumption in June July & august was 2360 units.

Company B Consumption in month of July was same as the consumption of company A & consumption 

in June was 100 units more than that was in July Total consumption for august for A & B together was 

1560 units.
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Q.26:- If  in September company B's consumption was 10% more than that of its 
consumption in June, then its consumption  in September was?
यनर्द नसतिंबर में किं पिी B कीखपत जूि में उसकी खपत से 10% अनिक थी, तो नसतिंबर में इसकी
खपत थी?

(A)980 (B)910 (C)990 (D)950 (E)None of these
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Q.27 :- What is the total consumption of company A in all the months together?

सिी महीिो िं में किं पिी A की कुलखपत नकतिी है?

(A)2380 (B)2340 (C)2260 (D)2360 (E)2320
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Q.28 :- If in the month of May, consumption of company A and B was same and was 10% 
less than that of company B's consumption in June, find how much percent it was more or 
less than the consumption of company A in August?
यनर्द मई के महीिे में, किं पिी A और B कीखपत समाि थीऔर जूि में किं पिी B कीखपत से 10% 
कम थी, तो अगस्तमें किं पिी A कीखपत से यह नकतिा प्रनतशत अनिक या कम था?

(A) 13.33% (B)8% (C) 15% (D)10% (E)12.5%
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Q.29 :- The consumption of company A in June is how much percentage less than that of 
company B in June.
जूि में किं पिी A कीखपत जूि में किं पिी B कीखपत से नकतिा प्रनतशतकम है।

(A)4 1/6% (B)5 2/3% (C)6 2/3% (D)7 1/3% (E)None of these
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Q.30 :- What is the difference of the consumption of Company A & Company B in the 
month of August?
अगस्त के महीिे में किं पिी A औरकिं पिी B कीखपत में नकतिा अिंतर है?

(A)140 (B)120 (C)150 (D)125 (E)None of these
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Q.31 :-Three persons A. B and C can complete a piece of work in 8. 12 and 16 days 
respectively. They completed the work with the help of D in 3 days. If they undertook the 
work in Rs. 2000 then find the share of C and D together . 
तीिव्यक्ति A , B और C एककायि को क्रमशः 8. 12 और 16 नर्दिो िं में पूरा कर सकते हैं। उन्ो िंिे 3 
नर्दिो िं में D की मर्दर्द से काम पूरा नकया। अगर उन्ोिंिे रुपये में काम नकया। 2000 तो C औरD का
एकसाथ नहस्सा ज्ञात कीनजए।

(A)750 (B)500 (C)600 (D)650 (E)450
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Q.32 :-A sum of Rs 15200 is divided into two parts. The simple interest on first part at the 
rate of 25% per annum is equal to the simple interest on second part at the rate of 13% per 
annum. What is the interest (in Rs.) of first part?
15200 रुपये की रानशको र्दो िागो िं में बािंटा गया है। पहले िाग पर 25% प्रनतिषि की र्दर से
सािारणब्याज रू्दसरे िाग पर 13% प्रनतिषि की र्दर से सािारणब्याज के बराबर है। पहले िाग
काब्याज (रुपये में) नकतिा है?

(A)2500 (B)1300 (C)3250 (D)1625 (E)None of these
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Q.33 :-A  started a business with Rs 9000 and B joined him with Rs. 16000 after 3 months. 
After a year ‘A ’ got 35% of total profit for his managerial work while remaining profit is 
divided into A and B according to their investment. If after an year ‘ A ’ got Rs. 52800 as his 
share, the total profit earned by them?
A िे 9000 रुपये के साथ एकव्यिसाय शुरू नकयाऔर 3 महीिे बार्द B िे 16000 रुपये के साथ उसके
साथ जुड़ गया। एक िषि के बार्द ‘A' को अपिे प्रबिंिकीय कायि के नलए कुल लािका 35% नमलता है
जबनक शेष लािको उिके नििेश के अिुसार Aऔर B में नििानजत नकया जाता है। यनर्द एक िषि
के बार्द ‘A' को अपिे नहसे्स के रूप में 52800 रुपये नमलते हैं, तो उिके द्वारा अनजित कुल लाि?

(A)74000 (B)76000 (C)80000 (D)84000 (E)88000
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Q.34 :- The ratio of the age of A and B 25 years ago was 3:8. The ratio of their present ages is 
8: 13. What will be the present age (in years) of B?
25 िषि पूिि A और B कीआयु का अिुपात 3:8 था। उिकी ितिमािआयु का अिुपात 8:13 है। B 
की ितिमािआयु (िषों में) क्या होगी?

(A)15 (B)40 (C)65 (D)50 (E)None of these
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Q.35 :-A  metallic wire bent in the form of a square of area 144 cm ² . If the same wire is bent 
in from of a circle , then the area of the circle is
एक िातु का तार 144 सेमी² के्षत्फल के िगि के रूप में मुड़ा हुआ है। यनर्द उसी तार को िृत्त से
मोड़ा जाता है, तो िृत्त का के्षत्फल है

(A)145.56 cm² (B) 174.23 cm² (C)183.45 cm² (D)157.34 cm² (E)None of these
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Directions (Q. 36-40):  Study the following information carefully and answer 

the given question. The bar graph given below shows the total number of employees and 

the number of male employees in five different companies – A, B, C, D and E 

निम्ननलक्तखत जािकारी का ध्यािपूििक अध्ययि करें और उत्तर र्दें नर्दया गया प्रश्न। िी े नर्दया गया

बार ग्राफ पािं अलग-अलग किं पनियो िं - ए, बी, सी, डी और ई में कमि ाररयो िं की कुल सिंख्या और

पुरुष कमि ाररयो िं की सिंख्या को र्दशािता है।
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Q.36 :- What is the ratio of the number of female employees in company D to the number of 
male employees in company E?
किं पिीD में मनहला कमि ाररयो िंकी सिंख्या का किं पिी E में पुरुष कमि ाररयो िंकी सिंख्या से अिुपात
नकतिा है?

(A)10 : 9 (B)11 : 12 (C)8 : 7 (D)9 : 11 (E)None of these

72

120

144

80
96

54

75

96

36
48

0

20

40

60

80

100

120

140

160

A B C D E

Total number of employees

Number of male employess

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Q.37:- The number of male employees in company A and C together is what percent of the 
total number of  employees in company B?
किं पिी A और C में नमलाकर पुरुष कमि ाररयो िंकी सिंख्या किं पिी B में कमि ाररयो िंकी कुल सिंख्या
का नकतिा प्रनतशत है?

(A)120% (B)125% (C)140% (D)130% (E)150%
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Q.38 :- What is the average number of female employees in company A, B and E together?

किं पिी A, B और E में नमलाकर मनहला कमि ाररयो िंकीऔसत सिंख्या नकतिी है?

(A)46 (B)29 (C)37 (D)41 (E)33
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Q.39 :- If the number of male employees in company F is 12 more than that in company E 
and the total number of employees in company F is 132, find the number of   female 
employees in company F.
यनर्द किं पिी F में पुरुषकमि ाररयो िंकी सिंख्या किं पिी E से 12 अनिक हैऔरकिं पिी F में
कमि ाररयो िंकी कुल सिंख्या 132 है, तो किं पिी F में मनहला कमि ाररयो िंकी सिंख्या ज्ञात कीनजए।

(A)75 (B)84 (C)60 (D)72 (E)90
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Q.40:- What is the difference between the average number of employees in company A and 
E together and the average number of male employees in company A and C together?
किं पिी A और E में नमलाकरकमि ाररयो िंकीऔसत सिंख्याऔरकिं पिी A और C में नमलाकर पुरुष
कमि ाररयो िंकीऔसत सिंख्या के बी का अिंतर नकतिा है?

(A)20 (B)15 (C)11 (D)16 (E)24
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Direction (41 to 45 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 

E04613
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Q.41 :- I. x² =  25                                      II.  y² − 10y + 25 = 0

Q.42:- I. 4x² − 5x + 1 = 0                        II.  x² − 3y  + 2 = 0

Q.43 :- I. x²+ 25x + 100= 0 II. y²+ 18y + 80= 0

Q.44 :- I. x² = 36 II. ( y− 2)2 = 0

Q.45 :- I. x2 − 12x +36 =0 II. y² −10 y+ 24=0

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Q.41 :- Cars A and B travel to a place at a speed of 30 and 45 km/h respectively. If car B 
takes 2 hours less time than A for the journey, the distance of the place is 
कार A और B एक स्थाि की यात्ा क्रमशः 30 और 45 नकमी/घिंटा की गनत से करते हैं। यनर्द कार B 
यात्ा के नलए A से 2 घिंटे कम समय लेती है, तो स्थाि की रू्दरी है

(A) 300km (B)400km (C)350km (D)225km (E)None of these
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Q.42 :- A bag contains 4 blue, 3 green 3 white and 5 black marbles. If four marbles are 
picked at random . what is the probability of at least one being blue?
एक बैग में 4 िीले, 3 हरे 3 सफेर्दऔर 5 काले किं  े हैं। यनर्द  ार किं  े यादृच्छया  ुिे जाते हैं। कम
से कम एक के िीले होिे की प्रानयकताक्या है?

(A)69/91 (B)71/89 (C)43/51 (D)37/69 (E)None of these
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Q.43 :-Aman and Bablu entered into a partnership just 7 months ago, although Aman
started the business 12 months ago. The ratio in which the profit was distributed is 19:17. If 
the capital invested by Aman was Rs 39900, then find the the capital invested by Bablu, at 
the time of joining the business.
अमिऔर बबलू िे नसफि 7 महीिे पहले एक साझेर्दारी में प्रिेश नकया था, हालािंनक अमि िे 12 
महीिे पहले कारोबार शुरू नकया था। नजसअिुपात में लाि नितररत नकया गया िह 19:17 है।
यनर्द अमि द्वारा नििेशकी गई पूिंजी 39900 रुपये थी, तो व्यिसाय में शानमल होिे के समय बबलू
द्वारा नििेश की गई पूिंजी का पता लगाएिं ।

(A) 75800 (B)45800 (C)61200 (D)42000 (E)None of these
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Q.44:- The ratio of income of A, B and C is 3:7 :4 and the ratio of their expenditure is 4:3:5 
respectively, if A saves Rs. 300 out of Rs. 2400, find the savings of C.
A, B और C कीआयका अिुपात 3:7:4 है और उिके व्ययका अिुपात क्रमशः 4:3:5 है, यनर्द A, 
2400 रुपये में से 300 रुपये ब ाता है, तो C की ब त ज्ञात कीनजए।

(A)565 (B)570 (C)575 (D)580 (E)None of these
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Q.45 :- While going upstream covering 20 km, a boat takes twice the time as it takes to 
cover 20 km downstream. The speed of boat in still water is thrice the speed of stream. How 
much time will the boat take to cover 40 km downstream?
िारा के प्रनतकूल 20 नकमी की रू्दरी तय करते समय, एक िाि िारा के अिुकूल 20 नकमी की रू्दरी
तय करिे में लगिे िाले समय से र्दोगुिा समय लेती है। शािंत जल में िाि की गनत िारा की गनत से
तीि गुिी है। िाि को िारा के अिुकूल 40 नकमी की रू्दरी तय करिे में नकतिा समय लगेगा?

(A)3 hours (B)2.5 hours (C)4 hours (D)6 hours (E)CND

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Q.51 :- There are 320 boys and 240 girls in a class. In an examination equal number of boys 
and girls failed. if the number of boys passed is 1.4 times the number of girls passed, then 
find out the total number of  boys and girls failed?
एककक्षा में 320 लड़केऔर 240 लड़नकयािं हैं। एक परीक्षा में लड़केऔर लड़नकयो िंकी समाि
सिंख्या अिुत्तीणि हुई। यनर्द उत्तीणि लड़कोिंकी सिंख्या उत्तीणि होिे िाली लड़नकयो िंकी सिंख्या का
1.4 गुिा है, तो अिुत्तीणि लड़कोिंऔर लड़नकयो िंकी कुल सिंख्या ज्ञात कीनजए?

(A)80 (B)60 (C)90 (D)50 (E)None of these
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Q.52 :- Rs.8000 is invested for 5 years at r % at SI. The amount thus generated was 
reinvested at CI at 10 % per annum for next 2 years. The CI generated was Rs.2856. What 
is the value of r?
8000रुपये को 5साल के नलए r% पर सािारणब्याज पर नििेश नकया जाता है। इस प्रकार उत्पन्न
रानश को अगले 2 िषों के नलए 10% प्रनत िषि की र्दर से सीआई पर नििेश नकया गया था। उत्पन्न
सीआई 2856रुपये था r का मूल्यक्या है?

(A)15% (B) 16% (C)14% (D)12% (E)None of these
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Q.53 :- ‘x’ red & 12 green balls are in a bag. The probability of taking out one red ball is 2/5 
. Then total  number of balls in the bag are __
एक बैग में 'x' लालऔर 12 हरी गेंर्दें हैं। एक लाल गेंर्द निकालिे की प्रानयकता 2/5 है। तो बैग में
गेंर्दो िं की कुल सिंख्या __ है

(A)15 (B)16 (C)18 (D)20 (E)None of these
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Q.54 :- The time taken by a boat to cover 100 km in upstream direction is 2 hours more 
than the time taken to cover 72 km in downstream direction. If speed of the boat in still 
water is 11 times the speed of flow of water, then what is the speed of the boat in the still 
water?
एक िाि द्वारा िारा के प्रनतकूल नर्दशा में 100 नकमी की रू्दरी तय करिे में नलया गया समय
अिुप्रिाह नर्दशा में 72 नकमी की रू्दरी तय करिे में नलए गए समय से 2 घिंटे अनिक है। यनर्द शािंत
जल में िाि की गनत जल के प्रिाह की गनत से 11 गुिा है, तो शािंत जल में िाि की गनतक्या है?

(A)11 km/hr (B)22km/ hr (C) 20 km/hr (D)33km/hr (E)None of these
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Q.55:- The area of a circle is 144πcm² and diameter of the circle is equal to the diagonal of a 
square. Find the perimeter of the square?
एक िृत्तका के्षत्फल 144πcm² है और िृत्त काव्यास एक िगि के निकणि के बराबर है। िगि का
पररमाप ज्ञात कीनजए?

(A)54√2 (B)48√2 (C)45 (D)42 (E)None of these
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